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_ Instructions Jor the candidates :

1. wET OMR I waw ur srgar
R q%;r_;m . i . Candidate must enter his / her
. FHE (10 I F7) Question Booklet Serial No.

Iavg ferdt (10 Digits) in the OMR Answer
- _ Sheet.
2. RIS FeRiYE 3?‘7:} RiCA| r} ) Candidates are required to give their

FH 7! ) answers in their own words as far
: as practicable. '

3. A WWW&#E’QWW 3 Figures in the right hand margin
fafre HA &1 : indicate full marks.

4. g F E?FFE’W gg7 & [T 4. 15 minutes of extra time have been
g & 15 e @ ShiRE @9 allotted for the candidates to read

fear mar = the questions carefully.
S w . ki ' ion booklet is divided into
. Qﬁ;"ﬁﬂ gl @usl g 2—@ug-H 5. This question
” gz:g Al | two sections — Section-A and
G Section-B.
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gug- & 70 awgve W & A 6

3 fat 359wl @& Imv 7 AfvEd
&1 35 @ HiE ST IW AW
T 35 % & qodie gl IEd &
foaw 1 9@ Fuife &1 77 ST 37 &
fere 39Tl #¥d T OMR IT-9AF
¥ Ry o &l faweq &1 At / &
g7 U7 @ g% F11 [FE 9w
& @WeeTw / AT Wrd / &g /
G AT F OMR Ia¢ W& H
T #vAr wAr & =qem geiEm
qROIH W g

GUe - § # 20 g INIT FHTAE |
gl & f 2 s& Fuiia &
g M=t 10 weAl @ I A
afard & 1 e sRk® & @S A
6 A T vy Rd @ & TRE @

frw 5 gw Pt & o @ et

3 qvAF &7 IAT 3T AfE §

frat gHR & FAITH ITHC H 8.

mwaﬁﬁ?!

In Section-A, there ar,
70 objective type questions, out ¢
which any 35 questians are to y,
answered. If more than 35 question,
are answered, then only first 35y
be evaluated. Each question carri
1 mark. Darken the circle with bly,
/ black ball pen against the correg
option on OMR Answer Shee
provided to you. Do not use

whitener / liquid / blade / nail
etc. on OMR Answer Sheet,

otherwise the result will be
invalid.

In Section - B, there are 20 short

answer type questions. Each
carrying 2 marks, out of which any
10 questions are to be answered.
Apart from this, there are 6 long
answer type questions, each
carrying 5§ marks. Out of which any
3 questions are to be answered.

Use of any electronic appliances is
strictly prohibited.



WIS - 3 / BECTION - A
s e 1% ”o WTT:;W / Objcctive Type Quostions
o T g T e Wﬂ?waﬂf&mf&vvviﬁmﬁ#qmwﬁ#:
_ ﬁoww?awﬁf?aﬁaﬁf%ﬁsswﬁwmi!

Question Nos. 1
to 70 have four options, out of which only one

mark your sele .
y clected option, on the OMR-Sheet. Answer any 35 questions.

1. Y W e ool 99 €

. (A) H0 (B)

(C) NaCl

(D)

35 x1=35
is correct. You have to
35x1=35

O,

CgHg

The substance which exhibits paramagnetism is

(A} H0 (B)

(C) NaCl (D)
> fiyyreer GEE ot SRS gFal &

Ay T4 sfafar g . (B)

C)  hiSHA-SATRH arfafsrar gRT (D)

Methylamine can be preparéd by

(A) Wwurtz reaction (B)

(C) Friedel-Crafts reaction (D)
s TR gEEE WG E

(A)  CuFeS (B)

(C) CusS (D)

02
CeHe
= A FS &

Hofmann bromamide reaction

None of these

CuFeS,

C1.i;_,FcS2

e e —

- - _-_-_._.__,_.—-—l—'—_____—
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The formula of copper pyrite is

(A]  CuFeS - B) CuFeS,

(C) Cu,S ' | : (D)  CugFeS;

0-01 M TeRY et @ e & 0-01 M MgCl, e & feie ﬁ HFTE ¢
&) TEE I @ wET

© %11I:n | o | {ijp WWE gt

In comparison to 0-01 M solution of glucose, the depression in freezing point

0.-01 M MgCl, solution is

(A) same - (B)  about twice .

(C)  about three times o | (D) - about six.t.imes
et a1 W o e A g

(A)  CH3NO, o | (B) CH3COOH
(C) CHsCH,NH, . o H,NCH,COOH |
Which bnc is capable of fo_i'ming zwitterion ? |

(A)  CHgNOy L (B)  CH3COOH

(C) CHaCHzNHé a . (D) H,NCH,COOH
Wﬁﬁlﬁ_ﬂﬁﬂ*m%mﬁ@ﬁm%

®) Al

B)  C
© Mg D co
The process of smclting.involyes reduction of metal oxide with I.
oA woe
© Mg | D) co
ng ]A f(A]-9OO$-A(31] | Page 4 of g | -




© ETZKMU 1
e - (D T QA Fe AR

-
he rate of zero order reaction A+ B——Cis

A) e = : |

(A)  Rate = K[A]%B° (B) Rate = K{A}'(B)°
Q) = Ored |

(C) Rate = K|A)°[B] - (D) none of these

> N T & YR ATEEA @ W B §

() HCHO | () HCOOH
(C) CH,COOH - (D) .CH,CHO
Dry distillation of caicium fo-rmate gives
() - HCHO . - B) HCOOH
(©) CH,COOH (D) CH4CHO
A, B 3R C dcdl &1 AFTh AT Ryvral T T + 0-68 V, ~2:50 V 3 = 0-50 V
%L?ﬁﬁﬂﬁﬁﬂﬁ%aﬂﬁﬂﬁ |
(B)  A>c>B

(A) A>B>C

c C>B>A (D) B>C>A

andard reduction potentxal values of elements A, B and C are + 0-68 V,

The st
The order of their reducing power is

_9.50 Vand - 050V respectively.
) A>B>C (By A>C>B
(C) Cc>B>A (D} B>C>A

e
| 118 ] A : page 5 of 28
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10 Esgn @R 2
- - = ?f
(A FERIEE DILLEE

\ i A
) SiZm )  FH

What is an cnzymec ¢

(B) Lipid

(A Carbohydrate :
(D) Nonc of these

(C) Protein
11 GewRE HIWHR & WL fagr A €

A)  FA-Seerad @ gr B ferga-fassad faty gr1

() SFZRT o T i el
Sulphide ores are concentraled by

(A) Froth floatation proccss (B) Electrolysis
(C) Roasting - (D)  none of these

iz. fe=gel wwTa grar AT &

()  foerE 5§ B) S
© wad (D) st A
Tyndall effect is observed in
-{A)  Solution (B) Precipitate
(C)  Sol . (D)’ Vapours i
13. Qﬁﬂmw'ﬁmw%ﬁaaﬁmaﬁﬁ%
A T Afufiren .

(B) i 3y

: (C) IR aifiafiwey
' — O 7Y B

[118 ] A (A)-9005-Ap -
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t
{A) ten ﬂlky] h
<) Urty Feaction alide qnq 30dium meya) 14 "
! Cl(_m called
m by B'-
14 ‘C [H (.nabn 8 rcucnOn ( 7 KOIbc'h reaction
. r
20), C I W _— (B} Nonc of these
r &
(A) TR Ty A
+ 1
€ +s B) +3
D) +6

The oxidar:
dation n
umber of Cr in the complex {Cr(H,0),Cl, 1* is
‘ 2

(A) + 1
B +
(C) +5 ] ®
. Dy +6
15.  SERR 3k &7 3¢ &
[A) ﬁ'ﬂ ' _ (B] m
€ Tu® | D) ™
An example of amorphous solid is
(A) Diamond (B)  Graphite
(D)  Rubber

(C) Salt

16.  SMHRET C,HBr — ot & 3G ¥
< Alcoholic
(B) CH,CH,0H

[A) . CHQ = C}{Z
(C)  CHZCH,OCH;CH, D) T QFE AW
1 C,H:Br —E:O—H—-»
The product of the reaction Cofls ~Teonone !
(B) CH,CH,OH

(A] CHQ = CHz
(D) none of these

(C)  CHgCHOCH,CHs

[118 ] A I{A]—QOOS-A[M} ' Page 7 of 28



17, St feen @ § e savad 9o &I € 2

W e TR g) faeat APTES
e
C) fean sRES (D) AT

Photographic film plate has an esscntial ingredicnt of
(B)  silver bromide -

(A)  silver nitate
(D)  oleic acid

(C) sodium chloride

Ry it = e  fore A qn A R W T WA BT € 2

18,

A 9 (B) WM
) Fda o (D) T
The unif of rate and rate conéta_.nt 1S same fﬁr the reé.étion of which order ?
(A) Zzero (B)  First |

{C) Second , . (D}  Third

W8S - P o forwrd Qeler ey atfiufien g & 2
{4} HCHO _ (B) CH, -0O- CH&
C.H. - X
@ CeHisCHO ~ D) CHyCHO

W
hich of the following undergoes aldol condensauon reaction ?

1A} HCHO o )




Chiori
ne regp 1

Cis with EXCORY pf ammonin to form
(A) NH,C1

(C ) N, + HCL
) N;+NH,Q1 O N, i
21

=1, ﬁqmmwﬁawﬁﬁa‘%?

(A) =HgEqr ®)
<l (D)  HTHeRw
Which is not affected by tcrnpcratinc ?
(€)  Molarity (D)  Formality
i~ + - -
22. faFar cH N2 T IR &
(A)  CHRCOOH . . (B) CH,CH,NHOH
(C)  CH3CONH,. (D) CHCHO
: | oot .
The product of the reaction CHSCN-—”-——HS
| | : CH,CHO
(C)  CH3CONH, (D) 3
3 & 7
- ﬁqﬁﬁ-wwwmmﬁﬁl% .
' By CI-Cl
F=-F
(f'l’] (o) Br- Br
(C) -1 )
' ds is the strongest
T ¢ following bon
which of th 5 c-cl
[ﬁ"] F-F _ (n) Br - Br
© -l T o ar2s

[118 ] A (A)-0005-ABY |



26. - ﬁ%mﬁnmﬁ_@ﬂﬁ'mmwﬁﬂ%

27.

FIIB]A

fefm A agenm @
(A)  REfas apgE (13)
(C]  FereIRTer (D)
Vitamin A is known as
(A)  Ascorbic acid (B)
(<) Calcifcrol (D)
FENTT AT ST W 9Tl S{HeTen Ui @
(A] S (B)
(C} HW (D)
The metal always found in free state is
(4]  Gold ' (B)
{C) Copper (D)

FRRA P FAH]

(A) 3T (B) AT

The best way to protect iron from rusting‘is

{A)

(A) (B)

(C) (D)

making iron cathode

(B}
C)  both (4) and (B) (D)
W er ey, 0 -
A chzocH, (B)
© cuH00.
MV H (D)

— e,

=it

ZIRRITE!

Retinol
Tocopherol

s
qifsan

Silver

Sodium

ER 9T § T T
T ¥ w @

putting it in saline water

none of these

~ CH30CH,

¥ BN

Page 10 of 28 _




C2H50CH3
(13) CH,0CF
(C) C2HgOC, H, ' ' ¢t
(B}  Nonc of these
28. ImH : '
7 3 ey A fiformy ¢ o
(A)  =ERIfEer
| (B) et
(C)  FHEihw S TAEE
¢ oy feefE B,
Which of the following has magnesium ?
A
(A) Chlorophyll (B} Haemocyanin
(C)  Carbonic anhydrase (B} Vitamin B,
29. qEEME afuvieor § fea o @ ¥ 2
R R B A
(C) FIH - by IH
How many layers are involved in chemical adsorption ?
(A}  One - - B Two
() Many (D) Zero

30. éﬁmﬁzﬁﬂmﬁmmaﬁmmmﬁm%?
{:;xi dfaefesere @® e

© wnifcserEs (D) FAR IS~
- Bakelite 18 obtained from phenol by reacting it with
(B) Acetal

(A) Acetaldehyde
(C] 'Forma.lc-lchydc (D)  Chlorobenzene

g —

Page 11 of 28
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31. mm@muﬁﬁrﬁxdmi(wmﬁf

A 0 ® *
’
pp -1
oo | xidation st
. he o
In co-ordination compound Kl Ni(CNl4 | the
A) o @ +1
D -1
(C)  +2 (D)

32, $ e aia & ?
(B) [CaﬂslzNH_

(A} C,HNH,
(C)  CH,NH, (D)  (CH3,NH
Which is the most basic ? '
(Al C H NH, (B)  (CeHs)NH
(C)  CHaNH, (D) (CH3),NH
33.  SFRERREE CehlEe H WHE G ¢
(A) - ChHz,, OH ' (Bl C,Hj,,,CH
(C)  CpHaeOH ‘ O T A
The general formula of monohydr%c alcohol is |
(A)  CoH,,,,OH (B) C,H,. ,OH
© CnHaaOH (D}  None of these

34. v fafefea 9 @ fewer saeoor & )

@ - B) Fremas

(C) T

(D) saﬁaaﬁgqﬁ

ate of nickel is

[118)A A)-9005-Ap1)| Page 12 of 28




Milk ig an Cxample of

(A) Cmulsion

(C) sol

35. I g ‘s

(A) Sn

(C) Si

Galena is an ore of
(A) Sn
C)  si

36. HTE PR et Ieaw e

(A)  T=IRH

(C) CEILE]

The human body does not produce

(A) Enzyme
(C) Vitamin

37.  zn(s) | Zn**(ag) || Cu®'(aq)| ‘Cl.:l(S}%

A) TR W

(C) Foinier ad

zn(s) | Zn**(ag) [| Cu®*(ag)]| Culs) is

(A) Weston cell
(C) Calomel cell

(13)
(D)

(B)
(D)

(B)

(D)

(B)

(1}

(B}

(D)

(B)

(D)

(B) .

(D)

sSuspcnaion

nonec of these

b
Ag

- Pb

Ag

DNA

DNA

Hormones

sfae ga
70 § g @l

Daniel cell

None of these

[118]A [{A)-9005-A1)
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38,

39,

40.

41,

CH3CN & aragmyor 11 wra o 2
(. COOH
&) ch, @ CHEEE

COOH
D) CzH_-,C
€ c,HgNn, (

CH3CN on reduction gives

CH.,COOH
A)  cH, (B 3

C,H;COOH
(C)  C,HNH, O %2

Tl yaEe 3T &

(A) HCIO, (B) HCI0,
(€}  HCIO, (D)  HCIO

The strongest acid is

(A)  HClO, (B)  HCIO,

(C)  HCIO, - (D)  HCIO

234.2 U I % e 8 34.2 UMW 912 916 & 916 0T 99T & 2

& 01 - By 20

(C) 30 (D) 3¢

2342 ém of sugar syrup contains 34-2 gm‘sugar. What is the molarity of the
solution ? '

(A) 01 (B) 20

(€} 30 (D) 4.0

CHCl+ o0, &9 . + HC1?
(A)  Co, B cl,
(€} cocl,

[ 118 ] A [(A)-9005-Agy, —
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42.

43.

- 44,

Which one af (hie following 14

the  mnin product of  the

CHCIS -+ 02 Mg, +HCl 9 reaction
(A
) <O, L) ¢l

<) cocl, (D) None af theae
IUPAC ot & welle)sy =1 3 &

(A B . (B Ui

() WA Oy TUER

- The name of acetone in [UPAC system is

(A} Methanal (B) Ethanal

Q) Propanone , (D) Ethanone
fr=ifera aifwfear 1 w@ wiawe &
@’ NO2 gpn 4+ na )

(A) C¢HsOH (B)  CeHsNH,
(C)  CeHsCHs D) CeHe
The main product of the following reaction is
e

(A}  CgHsOH (B Cosita

D) CeHs
(€)  CeHsCHs | o T
- et ?
Prftfaa ® S FT whar Afvre &
- N (B) A
A q ot
| Affsan WEAAHE LIRS
(C) . '

f28

I 150
[T1871A e



Which of g i
the I‘ollowmg IS artificial SWeetening agent ?
(A} Sacchariy (B3 A t
spartdamnic
(C) -

Sodium Cyclomate

s ﬁmﬁﬁ_wwm% >

(D) All of these

A = (B) AIAH-6
T =a-s (D) e
Which one of the following is natural polymer ?
(A) Protcin (B) Nylon-6
{C) Buna-8§ (D) Terylene
6. FRNHRA WA (1v) FeiRes @ w G
(A)  [PYNH,)|CI, (B)  [PtNH,),]CL,
(C)  [PUNH,)),Cl, (D) [Pt(NH,)]Cl,

The correct formula of hexamine platinum (V) chloride is

(A)  [PUNH,)ICL, ~ (B)  [PHNH,)g)CL,
(©  [PHNH,)L,CL, | D) [PHNH,)|Cl,
47. Frefafaa 3 @ =1 sfreeta e o sqmror & 9

(4)  Nacl . (B) Zns

de

(€} oI9 o (D)  SiC

Which one of the following is an example of an amorphous solid ?
fAIJ NaCl (B) 2ZnS
(C) Giass | (D)  SiC

ik

[118 ] A [(A)-9005-Apn Page 16 of 28



49,

50.

51.

M) a5ty

© s

Whi D} wny

" Viacosﬂy B8 u colligative Broperly ?
(B) Surface 1ension

(C i
) Refractive index Dy o
Smotic pressure

1 HRT AP+ -m}
AL H 379%eT % feg fed
| AN Y RrawEEd Wy o
(A)  3-0x 108 ' |
| C (B) 2895 105¢C
(€Y 289-3x10%5¢ (D) 2895 x 105¢C

ge 1

(A) 3-0 x 105
c ; {B) 2895 x 105 ¢

C] 289 5 ¢ L -
(€ 2895x10°C ' (D) 2895 x105C

fiTen sl 3w 3 whafi % & e st g s

@) ’Tﬁﬁﬁ’f o om fafeet ot

© W Ly et st + R s

The minimum amount of encrey required to convert reactant molecules into

products is
[B] . Potential energy

(A) Kinetic energy
Kinetic energy + Potential energy

(C)  Activation energy D)
%Wﬁmﬁmwﬁﬁﬁ?ﬁ%(mmouﬁ

(A) 20-40 - (B)  40-60

(€} 60-80 - (D) 40-400 |

S
[118] A Page 17 of 28



In physical adsorption the approximate heat encrgy evolved in kJ/mol is
1l i

(A) 20-40 (B)  40-60
(C) 60-80 ' (D)  40-400
52, s,2 frafafy o faator gtar &
(a)  WrE YATEA @ . (B)  TEHHV SERAT F
(C) ¥ TeTd F . (D) ET HUTEA
Sy2 mechanism proceeds via formation of
(A)  Carbocation | : (B} Transition state
(C) Free radical L . tD.}. Carbanion
53. . fm1 1 @ wv-wr A e d faem ¥ 2
A cHol, @ C,Hg ~ O - CH,
© eccy (D} CH,CH,OH "

Which one of the f‘ollbwjng compounds is soluble in water ?

(A)  cHCly " | (B)  C,H-0-C,H,

(C) cel, | | (D) CH3CH20H

54. ﬁﬁ’rﬁ'ﬁﬂﬁﬁ(—c o)%wwaﬁq-mwmmg ?

4  sp - (B) sp?
© sp? . N D) spia
- . - ' ‘ - » i l '
The hybridisation of carbon in carbonyl group ( — ¢ - Q) is
A sp B sp?
.3
€  sp (D) sp3d

[ 118] A [(A)-9005.Aas
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56.

57.

58,

A} T &y
@ it e T w1t ey 3
B} iz

© e s
Pormaldehyde on hlc: (D) vam Tﬁ[cf['p_'
atin
(A) Formic acia B with Naoy solution gives
() Methy alcohpl B Acetone
(D) Ethyl form
S E ) CeHsN = C‘l-i’-_o_.__)m . ate
(8) Tt i
(B) ™
(©) . TURH sewre .
o (D)  &H ¥ HE I
‘ The product of the reaction C.HN = N ¢ H,0 i
(A) Aniline ' (B) Phenol
(C) Methyl alcohol (D} none of thesc
#fshdl OHCH,, ~ (CHOH), - CHO—HLA % 3R &
(A)  wEN™ - (B) A
(C)  TeIehliHF 37 D) 7 ¥ g
: ) HO Hla | product is

In reaction OHCH2 —(CHOH), = CHO———"" 0o ’

(B) n-hexane

(A) Fructose
(D)  None of these

(C) Gluconic acid

P 3 @ Fed pri- e 367

(B) CO%’

(A) NO3 | .
[C} BO3 Page 19 of 28 .

[118] A [(A[-9005-Acy)]



Which of the following has pr-dr bond ?
A No; (B) CO3”

C} BO?Z- (D) SO3%
59. Wi 16 % e FEAR &

(a) &l | B) I

(C) Y dF . (D) TP i

The clements of group 16 arc known as
(A} -_ Halogens B ' | (B) Chalcogens

(C) Transition clements ' (D) Noble gases

60, W FeHET Svit F Seaaw dfiaietor e TR HTEe T ¥

W oN @ o

(@ Fe - D) Mn

The clement showing highest oxidation state among first transition series is
(a) - Ni (B) Cr ,

(€  Fe (D)  Mn

61. e 4 4 few o A a7 I T i w9 9w & )

(A) RS ) | B) ufseAEs
© g D) TR
In which of the following clements af enefg level is gradually ﬁncdu
(A) Lanthanides ' (B]. Actlinides
) (C)  Transition metals - (D) Coinage metal
s
[ 118 |A | (A)-9005-Ag)|
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By 4
The co-ordinayj,,, Numbe, D) g
A 3 | of Cr ; 3(Cr(C,0,), 1 16
(C) 5 ® .

(C)  RUNTHH |
D) Ty q.-ﬁg e

The Electromotive force (EME) of the cell for the cel

reacti e
state is action at equiibrium

(4)  positive o

{C)  ncgative none of these

D SRR ’“+2Naxm1m%

) ger-fefem sifutsear ) @ e

» _cther + 2NaX is known as
Reaction 2 + 2Na

Wuru reaction
f’%l Fitlig reaction |
(D) Kolbc's reaction

(C)  Wurtz Fittig reaction

| A [(A)-9005-Acn]

/
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ﬁmmaﬁﬂ%vwaq’ré—szmﬁﬁm%rﬁaaﬁfmaﬁﬁmr%mqﬁaﬁﬂm

65
STy ?
A) I3 fvhwa B) Fed 3:&‘14‘&-1»‘&1
€  R-AN stihRaT () ) fatw

: e enli >
By which of the following reactions Phenol is converted into salicyl aldehyde :

(A) Etard reaction (B) Kolbe's reaction
(C)  Rcimer-Tiemann reaction (D}  Cannizzaro's reaction

66. W T  vgam. frw & g A A E 7
(A] . Her | (B) CHCl, + Koﬁ

" (€) NaOH {D) cﬁc;_;,
Pﬁmmy amine fs detected by |
-|31'_ CHCl, +KOH

(A) HCl
. (©) NaGH (D) CHCl,
67. Uwnilae el &
Ay i o (B) - TIEH
€ W D) O e
Ascorbic acid is a |
(A)  Vitamin - {B)  Enzyme

{C)  Protein D)  Amino acid

[ 118 ] A [(A)-9005-Aa Page 22 of 28




HTen t q;m“[n
n h?
‘ l ) K 14141
A substancg which ) ‘& i
lowers the body lempergy
ur
. o €18 known as
Anti ti B)  Ana
A p gesic

(O} none of these

69. TN H FE YART Fpomys
w2 TR
(A) ¥R Y B) A N
(C) F-centre D) TR T B T

When an clectron accupies the empty space of negatively charged ions, then the

delect in crystal is
(A) Schottky-defect (B}  Frenkel defect

(C) F-centre (D)  None of these

70. Ca[NO_o,]-gﬁ e &d Wﬁm 3

Ay 1} B) 2
c 3 10
The van't Hoff factor of Caf{NO3); 18
A 1 B) 2
(
oy 4 -

(C)



wWUg - A / SECTION - B

‘H‘&Imﬂﬂm / Bhort Answer Typo Questions
ﬁm;#zowﬁﬁ##rﬁﬁﬁ 10 Avt & FAV & 'rna'?ma‘;ﬁz;r.gw

Fraffe & : 10 X2 =20
Question Nos.- I to 20 are Short Answer Type., Answer any 10 questions. Each question
cetrries 2 marks 10 % 2=20

2

ﬁaaﬁafﬂvﬁ%aﬁwﬁuﬂ{m'% ?

e
- Glass is assumed to bea supcrcooled liquid. Why ?
?. o7 Bl ¥ 91 n-qﬁﬁmﬁiﬁﬁnﬁaﬁ KOHﬂ;mﬂn%ﬁmTom‘mm% ?
What halppena when n-bmyl chloride is treated with alcoholic KOH ?
T2

3, %?—rﬁ?ﬁﬂﬂ%aﬁhﬁqw%i

Who are’ the members of halogen famﬂy ?

.mﬂm%4m(w-4o}aﬁmﬁuﬁmﬂzoom3ﬁﬁmww1
_%mﬂaﬁnﬁawmaﬁﬁm B ' : | _g

"4 g:ram of caustic- soda ( molar mass = 40 ) is dISsolvcd in water and solution is

made t0.200 cm® Ca.lculatc the molarlty of solution. "

5. ) :%a'ra I 5@ Wae® % ?
What are the main conshtucnts of Dettol ?

y -l fafy & o R % st Wi fr sran ) g 3 ?

Which type of ores are concentrated by froth floation process ? Give examples.

I 1 18 ] A '(A]'QOOS-A{M]!' Page 24- of 28



7 TE o Moy
"il-ﬁ ﬂ"'q’rnq,w 37{"'{
Whatarcthcr e G
aLlUI“: whi ’ " A 15 ?

\ ich Mluenge the .

A BT St T oot |
81 l a ?‘I X £ p

TT,{TP_:.'\ ¥ numhl?
i\ nl
Mcthylamine ;
C 18 more bagie than aniliy, G ’
C. Gtve ICasonp
o PRI T A ey gver
3 MRS 1 TR Y
Transition clementg exhibit varigy 2

ie oxidaticn Slate. Why 7
0. R Fle S EEn @ R oo

Fug et

Yy r; b 4 3
C0S I Y FLgm Abatey B Tz

2

The ratc constant for first order reaction is 0-0005 min~!
life.

. Caieulate its hall

11, THRIE F T SIS H - KA FE 7 2

What arc the expected products of hydrolysis of lactose ?

12, %-WMW%?WW#'W@ - )
Define double s.a‘.ts with suitable cxamples.
13. frré‘iffrsa:wzrmﬁﬂqﬁa‘wﬁﬁmﬁl 2
Differentiate betwcen methanoic acid and ¢thanoic acid. |
2

mﬂﬁwwﬂﬁaﬂz‘éaﬁ?ﬁ%iﬁ?

ge atomic radius. Why ?

14, 3IPE i et

ave comparalivcly lar

Noblc gascs h

116 ] A [Aro00she]



15.

.

16,

1?.

18.

19,

20.

gamd J20 W Iy F11 ¥EETE £ 2

what do you understard by sccondary cell ? .

FaAfethan aeal & FolERTTS (o= Ta ferd

G) ViI{Z=23) iy Zn(2Z2=30)

Write clectranie configuration of the following clements ¢

o V(Z=23) W Zn(Z=30)

[

Resiiel eToeeel A SgiaT I €1 3/ 2
Phenol 1s more aciidi'c: than aleohol. Why ?
fafE poe T = &1 fefua @ wman] G wt o w, dF el

33‘7|QF e @ feAr 351 pm%l 2

Lithium forms BCC crystal. Caiculate the atorme radius of Lithium if the length
of the side of a unit cell of Lithium is 351 pm.
PIL, ¥ NH, 1 376~ Hi1 431 & & 2

Bond anlglc'in NHj; is greater than in -Pbla. Why ?

frafefaa spcr-amas Suhrar 1 ot Fg

i) {Cyls)3N +HCl—-

Complele the following acid-base reactions :

ij  CH,CH,CH,

i) " {C,Hs 3N + HCl—-

[ 118 ] A .[ﬁ]-QOUS-Amj Page 26 of 28




5% ﬁufﬁa' g. ; : ! 3 v & T § ;
. ek
ouesuon Nos. 21 to 26 are LanA . ¥ ﬂ;h,{
uestion carries 5 | TS Type Quesﬁo"s- Answey AL
g marks ; MY 3 questions, h
n 3% 5.
2. a) _Wma?qrﬁwwﬁ;ﬁﬁ;amﬁm:aw, 15
b) Ww%wwmﬁmml 5
: - *2
a) Write the principle of manufacture of sulphuric acid by contact process
b) ’

Write the reactions of concentrated sulphuric acig with oxalic acid.

22.  a) Wﬂﬂ%ﬁﬂﬁﬁ?ﬁq‘%%nﬂﬁiiﬁnﬁﬁﬂmmﬁl

b)  UUWU HR fawor Fqm siw y 5 _ 342
a) - Derive an expression for the rate constant of a first order reaction.

b) What is the differcnce between osmosis.and diffusion ?
23. &)  FEEN aa-:. ' | |
) I RR ﬁsqf@r%ﬁnfimmaﬁl afafsmar Bifgam gt ¥ 2
ii) m%ﬁ%ﬁ%@zw.w-w%mm% 2 1+1
firtfafEn amgogotlogodo =77 aret AT F dae fefEg . 141+
) 2-FRAA : |
i) N, N-gréAfer e
jii) 2-uHAEITRA

hen — _ _ i
e hrom . jum i of dry ether :
* Methyl bromide is treated with sedium in presence
i] o di of acid ?
Ethyl acetate is hydro]yscd in presence | o

b}

1i)

Page 27 of 28
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b)
24, a)
b)
al
b)
25 a)
b)
a)
bj
26.

- AYGH T IFEvEE Ol s = A ¥ ? U W1 IEIW AT |

3 1 - a
Write the struciures of compounds whosc TUPAC namces are as {ollows ¢

ij 2-Butanol
ji) N, N-dimethyl methanamine

il 2-Aminotoluenc.
HF. HCI, HBr ud ) T GO TS TSR & % ? 3
Frmfafaa shifwaiat &t qof Sl . 1%+ 1%
i) CoHy +0,—

B

i) 4Al +30, —* 5
Among HF,'HCI; HBr and HI, which is the strongest reducing agent ?

Complete the following reactions
i} CyHy 10,—2 ,
i) 4Al 430, —8 5 "

P g wm ¥ 2 2 serwcr A

2+3

wlmt are mlﬁual sm.r..tcmng agents ? (_m.e lwo cxamples.

What arc essential and non-essential amino acxds ? (nve examples of

each type.

Wmﬁmwm# ?mem%m%aﬁm
wiftE w1 '

-

What is eclevation of bomng point ? Fmd thc rclatzon between clevauon of bmhng

pomt and molar mass of solute.

| 118 ) A [(A)-9005-Aay] Page 28 of 28





